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12. Expand.
a) ~6(c+4) b) ~8(a—5)
91(-7) d3(-8-g
© —88-y) ) —2-s+5)
9) —5(=t—=8) h) =9(9 —w)

13. Assessment Focus. Which pairs of
expressions are equivalent?
Explain your reasoning.

) 2x+ 20 and 2(x + 20)
b) 3x + 7and 10x

9 6+ 2tand 2(t +3)

d) 9+xandx+9

There are 15 players on the Grade 8
baseball team. Each player needs a
baseball cap and a team jersey.
A team jersey costs $25. A baseball cap
costs $14.
) Write 2 different expressions
to find the cost of supplying the
team with caps and jerseys.
b) Evaluate cach expression.
Which expression did you find
easier to evaluate? Explain.
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15. Five friends go to the movies.

‘They cach pay $9 to get in, and $8 for a

popcorn and drink combo.

) Write 2 different expressions to find
the total cost of the outing.

b) Evaluate cach expression.
‘Which expression was easier to
evaluate? Justify your choice.
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16. Match each expression in Column 1 with
an equivalent expression in Column 2.
Column 1 Column 2
) 6(t — 6)
b) —6(t — 6)
 —6(t +6)
d) 66+ 1)





